A@m QM = Y/008 /7

//-./?"W/V:? mfﬁf’? / 72— /[70’
/

<~ 2

4 o iF ﬁ‘ﬁ @
GG L Lgghaing.
~ i ]

O pngeese |

Z%é‘%,&‘fﬁmg f~W%W\/ﬁa 5 ‘/M _.

Y horin iineres via pV/ =R 2

g \(( 'L’KZX; //V 1-5’7_.%?3/; M

)
Y
——t_
///g?— /7 "/7;7;
Ll | o
/:;f { . ’-&_
/" s":;_ij) T
A
A
7 7z Zy
b4 7

("\iﬁ

V/

OWW a«j ity g’é@w} _;;/74,, el 519—;«,,,?2‘1%

[//L,z_»/; /“Wwwwqwﬁ%\i

69 "JAM (C A7 = C/z\/,?’/)’
oyt vt LT e @)
G=GT 7G0T - GF b
Virening ?ﬂ/"wﬁﬁm (ﬂ&w fé‘%d‘i’
f‘(/ LV; ‘*’Cﬁ f /? x}') /

&> @z "/”“‘/7 i
/«&/1””2/

N =
/
v

-y Cbeowtletats o paratirsn o T5=T7. &aﬁaﬂ_j v
%@LB—M( gf"(""”‘
élf.' < C L,,z”//zjj feén{\//l/)-‘
C\ Zn(’//!xy)fﬁ_ (f;/ K/Z;/? - Cﬂ A,C/;/é;).
Z/Lcéﬂzhﬁ ~ u‘ﬁ.gfe M"‘?{"’
46( C, (- /7)

WA/' /4/ Vé’) ﬁ?é’
/”/MMWM%V%?%@% ]
wx= 7 A=, W= C [_/5,-/,-7;‘4” :%




Cppgere 2
/F.,‘ C= U —75+pV
= ol 7l ra,f/:wﬂ“i/é/n
mwﬁvmu“ =
Tl raitle 2T
ﬂ{-ﬁyzdy

S SR
%;/W _(‘47-—*1/4”

ﬂrdm ity Bm

Jéﬁ‘/

MWQW et ot
()-‘-* 7
( =63,

far oo sestotlie Wl ﬂ—/&*/"/“

Vw& w‘;ﬁl Hax weﬂdw'm o
@ = V- 7(3 7

/FWWWWWM
o %

Har WM "““;W T)r%-f)%?) =/
A bl

V’oée»e 2r _g_ =
WW(MM%M‘QM

(a_) __,(éf)/l QH
Vo a,.ezZZE G w%ﬁfﬁﬂﬂ@/c/”é”

= /‘W‘ i [75‘) -]
<. aor WladbdlIonivgon 5o
gty B
( J/é?* L}/(@+QT_§)
@Wﬁ/ff' ( (17/ l/)

-2y -t oot ()
\/—i 7 (%" ) Cp









